SIISie Gel eae, o4l

CUTTACK-1

Name
Roll No

Subject

QID : 3601 - Vygotsky sees
therefore aid their development.

RIJIRF 99° QEINTE 6QIRR! fRR! AR QIREEIY

6ACIRE QRIGIER AIRIAY F6Q |
Options:

1) Private speech
alaalgals

2) Public speech
QR QR

3) Silent inner speech
Qe aiges g

4) Social speech
aq@e ge

Correct Answer: 1) Private speech
gasag ge

Candidate Answer: 4) Social speech
aame ge

QID : 3602 - Piaget proposed

sophistication of children's thought.

JaI6R] 6QRISR A°QIR1A RIS
JoCRo @RI |

: BOARD OF SECONDARY EDUCATION, ODISHA

Odisha Teacher Eligibility Test

Grievance View response Logout

Paper- 2
G Date- 18-Aug-201
- Shift- 3rd

Paper 2

as a means for children to plan activities and strategies and

2 GRIFINE AI6l 9@ FIRIF QIR 60617 \Ye° QIR

stages of cognitive development which reflect the increasing

0081geaa 99Ie 60rejem ARl IRIFINE Q8 AIRZQl @5R 6gl 61§

9
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Options:

1) eight
2o

2) six
2

3) three
o0

4) four
QIR

Correct Answer: 4) four
oIR

Candidate Answer: 4) four
oIR

QID : 3603 - During stage of Erik Erikson's theory of psychosocial development, the infant is
uncertain about the world in which they live, and looks towards their primary caregiver for stability
and consistency of care.

0Q ARaR & F6RIEIRING YRR OQ8 AAER, Gig] 6AClIER QRN Ag VR ARSI &N, \IQ°
gdael e faga 49 diel gl2fie QI6e J9 6RRQI Q48 QUER FAQ K6Q |

Options:

1) Intimacy vs. Isolation
Q@QOI QRIEl 2mGl 629
2) Initiative vs. Guilt
d@6Qd @RI¢1 2

3) Trust vs. Mistrust
Qgla @RIfl d6eQ

4) Autonomy vs. Shame
QAalde QRIF Rg!

Correct Answer: 3) Trust vs. Mistrust
Q619 QRIFl A6RQ

Candidate Answer: 3) Trust vs. Mistrust
Q¢IQ @RI F6RL

QID : 3604 - Mind in Society is writtenby __ |

ARG QR 6AIARE & QIQl 6REICIRR |
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Options:

1) Sigmund Freud
JoIc1g R

2) G. Stanley Hall
®. Yrem 2R

3) Jean Piaget
#Q Quleng

4) Lev Vygotsky
6MQ QURECISY

Correct Answer: 4) Lev Vygotsky
6RQ AURGLISE

Candidate Answer: 1) Sigmund Freud
doicig e

QID : 3605 - A child of 8 years is said to be in stage according to Jean Piaget.

09 Q2Ieeg & 1060 8 @FQ &g 00616 2N 691m QRIAN |
Options:

1) formal operational
IR 2AA6RARIR

2) pre-operational
3-2060a0IR

3) concrete operational
PFYQ AJ6RARIR

4) sensorimotor
6Q6R1R6ICRQ

Correct Answer: 3) concrete operational
PFQ AJ6QARIR

Candidate Answer: 3) concrete operational
AFTQ AJ6RARIR

QID : 3606 - According to , Social development means the attaining of maturity in
social relationships.

&40 dgqiee, ACIRe FRI6l Al6R AIFIRe ALGPRsa dAJIgel 2IAm @AQ! |
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Options:

1) H.E. Garret
\9Q.R.66160¢

2) Erik Erikson
0 QAR
3) Jean Piaget
& Galeelq

4) E.B. Hurlock
2.9 emiq

Correct Answer: 4) E.B. Hurlock
2.8 e6miq

Candidate Answer: 2) Erik Erikson
QR IARAQ

QID : 3607 - According to Vygotsky, is the main means by which adults transmit
information to children.

QREAIGH AG6Q, ______ 62Q& g6 AIA, QIg] QIR @9gAI6R TRIFING Jor! JoIe @RI |
Options:

1) language
QU

2) reading
agal

3) literature
al[alel]

4) listening
géiel

Correct Answer: 1) language
Qal

Candidate Answer: 1) language
QU

QID : 3608 - happens when the existing schema (knowledge) does not work, and needs
to be changed to deal with a new object or situation.

60606267 4IQ el eIl (RIR) AlF AR A2IN \Q° @Il diFig F¢ AAg0 a2 IR 696! disl AARER 626!
BRSNS RREIN 69606967 62IREIN] |
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Options:

1) Assimilation
a[a(ala)

2) Accommodation
geul

3) Equilibration
Q]@@Q

4) Adaptation
209R

Correct Answer: 2) Accommodation
gaul

Candidate Answer: 4) Adaptation
2AQam

QID : 3609 - Success of Initiative vs. Guilt stage of Erik Erikson will lead to the virtue of

AR IARAR & QR QRIF ZJAlk PR8I ARG 29gig 9§ @9Q |
Options:

1) Hope
aigll

2) Will

0@

3) Purpose
Qe

4) Love
6971

Correct Answer: 3) Purpose
QeLs

Candidate Answer: 1) Hope
aigll

QID : 3610 - The Russian psychologist argues that the development of language and
thought go together and that the origin of reasoning is more to do with our ability to communicate
with others than with our interaction with the material world.

Q1L F6RIETRIOR 48 997 64, QYR ARI6 \9e° IRID 2i6lg QL9 dIR Og! G 6gI *AQIR ag
62Q8, 2IF1Q Al 66 A2 ARIRT @RAIER ARYFING I 6dIGIEAIS @RRIER 2IF QG OIQ YR #8 @RI |
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Options:

1) Sigmund Freud
JoIc1g R

2) G. Stanley Hall
®. Yrem 2R

3) Jean Piaget
#Q Qaleng

4) Lev Vygotsky
6MQ QURECISY

Correct Answer: 4) Lev Vygotsky
6RQ ARGLISE

Candidate Answer: 4) Lev Vygotsky
6RQ ARGLISE

QID:3611-1In theory, students learn most effectively through reading text and lecture
instruction.

2J3a16Q), IQIeR SN aQ@ e M P6REIRT ARIFIER 2@ dQUQGIMT QU6 aGiaI@ I
Options:

1) Humanism
ARG

2) Cognitivism
agcaa

3) Constructivism
PR

4) Connectivism

@ERQWC ]

Correct Answer: 2) Cognitivism
agcaa

Candidate Answer: 3) Constructivism
PR

QID : 3612 - If any action is repeated by an organism in certain condition, learning occurs. This is
known as

~ o<

A0 6aleld PRY A0g06a 6al6ld QIY QIR 6QIRQIAN, Eigjel RITY 6QIRRIN | 921 6QIm
REIAIREIN |
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Options:

1) law of use
QIQLIQ Q¢

2) law of disuse
2Ll ML

3) law of effect
e Me

4) law of readiness
alalzloaaifaty

Correct Answer: 1) law of use
QIQLIQ Q1¢]

Candidate Answer: 1) law of use

QIQLIQ Q¢

QID : 3613 - Portfolios could also be assessed during its development as a assessment.
6dIT6TIME RIS QIR I2IQ FRIS AAYER IRRE LR RS |

Options:

1) prognostic
601691§R

2) diagnostic
QIR6eIYR

3) summative
a6aeRQ

4) formative
FEIER

Correct Answer: 4) formative
FeeR

Candidate Answer: 4) formative
FeeR

QID :3614 - is the characteristics which appear to measure those which are actually
sought to be measured.

6208 F661861 ARl ARIIFR 62QIAR RGN, IRl JE6R ZIeRe @8Ql @l AAITRI 2IQEe |
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Options:

1) Predictive Validity
600QQ 656!

2) Face Validity

e 630!

3) Concurrent Validity
RRRERE] 6T

4) Criterion-Related Validity
PIRECAIR - A1, 6QUB!

Correct Answer: 2) Face Validity
e 63!

Candidate Answer: 1) Predictive Validity
600QQ 6que!

QID : 3615 - method uses two versions of an instrument given to the same sample of
respondents.

JeIR1 AFle AIPIR QAARIIF SRR 661N QUNAEIR QRE A°gRs @1QRIQ @RIEIN |
Options:

1) Test-Retest

66 Q66

2) Equivalent-forms
ARy Qa

3) Kuder-Richardson
Q0Q AIHAQ

4) Split-half

2l Q6! @Qg I

Correct Answer: 2) Equivalent-forms
argmY Qa

Candidate Answer: 2) Equivalent-forms
argRY Qd

QID : 3616 - means the state or quality of being true even outside of a subject's
individual biases, interpretations, feelings, and imaginings.

2¢] 62Q@ Q1G6I6 9IIgR, QUIsHl, AR Ie° @pRI QIRlsa O 6291a §6 &¢ll gaeal |
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Options:

1) Validity
650!

2) Usability
QAeAIGlo!

3) Objectivity
ACRPEE

4) Subjectivity
a[eldalaly

Correct Answer: 3) Objectivity

26RQPWG

Candidate Answer: 2) Usability
QAEAIGNO!

QID : 3617 - The Assessment become when the information is used to adapt teaching and
learning to meet student needs.

64606Q6M QPLIYE 2SR JREI P0Q! Al SRR Y& SRIgeE @@Qlﬁi 4ol IeLIQ 6L1melN
646L6Q6M FIMIlEa 6LIWCIN |

Options:

1) prognostic
969I8R

2) diagnostic
QIR6QIxR

3) summative
a6geQ

4) formative
AT

Correct Answer: 4) formative
AT

Candidate Answer: 2) diagnostic
QIR6QIYR

QID: 3618 - is a paradigm approach that believes learning is viewed as a personal act to
fulfil one’s potential.

6208 JorIn QY616 QIR B¢d @6Q 64, SINICQE 6208 REFA ARG @l AR I8! AIel 1@
QIQEIe Q1Y |
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Options:

1) Humanism
ARG

2) Cognitivism
agcaa

3) Constructivism
PR

4) Connectivism
RERFACRE

Correct Answer: 1) Humanism
IAIRR

Candidate Answer: 3) Constructivism
PR

QID : 3619 - Which among the following is not a source of qualitative data?
Reclg FNQ 6R6IE QEINR GIQ Qg g6e ?
Options:

1) Interviews
dIQIRIN

2) Postcards
6QIg Q16

3) Focus Group
61d g9

4) Surveys
Q66!

Correct Answer: 4) Surveys
A6aREl

Candidate Answer: 2) Postcards
6QIg, QI

QID : 3620 - Gordon W Allport defined an to be a mental and neural state of readiness,
organized through experience, exerting a directive or dynamic influence upon the individual's
response to all objects and situations with which it is related.

GEPRe, AIQI YLl AR, AAY AIFG 9e° ARFE AR 91§60 goad Qdea ReReige @dl QIR daIe @Ig
Q6Q |

66R 09 2IMEAIS QUisl @87 6208 9go 62IQ FIRTR IQ° QIR 6, QIQl 2RRE! AR
e
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Options:

1) attitude
2ITQIQ

2) assessment
PR Al JRIISE
3) achievement
QI @R

4) aptitude
6@I6lR Q 6QIGNG!

Correct Answer: 1) attitude
2ITQIQ

Candidate Answer: 1) attitude

AGQIQ
QID : 3621 - function of evaluation discovers potential abilities and aptitudes among the
learners.
gRiIEe @Idd ARITNE FrIER IAITE YOI 9e° 6al6R AIRFIR @6Q |
Options:

1) Predictive
QR goR

2) Administrative
gelafe

3) Placement
Salalseh|

4) Guidance
clReIQ

Correct Answer: 1) Predictive
QU1 goe

Candidate Answer: 4) Guidance
all(z

QID : 3622 - In respect of vocational-technical education evaluation, Olaitan (1996) identified the
evaluation models.

6304R - 665RIR SA 2IRRR AREER, BRIRSIR (1996) ARIFR FI60R 096 FRLER |
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Options:

1) seven
a1

2) six
22

3) three
o6

4) four
QIR

Correct Answer: 4) four
oIR

Candidate Answer: 4) four

oI

QID : 3623 - is also known as solipsism.
@ 6AIRTR 61 F1l REILN |

Options:

1) Subjective Idealism
AQ6RRQ 2Iesiale

2) Absolute Idealism
2IR6AIRYS 2QERIQ

3) Platonic Idealism
661 AREQI

4) Transcendental Idealism
I6Q6REIR ARERIQ

Correct Answer: 1) Subjective Idealism
AQERQQ 2IQERIQ

Candidate Answer: 1) Subjective Idealism
AQERQQ 2IREQIQ

QID : 3624 - CIPP model of curriculum development is a process of

dIOYeF @RI QCIPP (6eR 6208 dIOY9AQ 9@l |
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Options:

1) creating
2R @aal

2) developing
QI8 @A

3) rearranging
gr894eg6 @QQ!
4) organisation
a°610e

Correct Answer: 2) developing
QI8 @GR!

Candidate Answer: 2) developing

QI8 @QQ!

QID : 3625 - Standardized tests is an example of assessment.
YEOIRR 66Q6QaR ___ (RIFAR Q9Ieq8 |

Options:

1) Prognostic
601691§R

2) Diagnostic
QIR6eIYR

3) Summative
a6geR

4) Formative
ATR

Correct Answer: 3) Summative
q6geRQ

Candidate Answer: 3) Summative
q6geRQ

QID : 3626 - Which curriculum is comprised of ideas offered by policymakers, school officials,
administrators, or politicians?

696 AI0YRF FAA B2IR FRGRI @17, AR RIJIREl, JaIgRe ARSI A¢) ARERGIE Joa F0Ia § 6°R
600 ??
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Options:

1) Societal
6QIANGIR

2) Rhetorical
Q6ECIRRIR

3) Null

ae4

4) Phantom
Tl66]1e1

Correct Answer: 2) Rhetorical
Q6cIRRIR

Candidate Answer: 1) Societal

6QIIGIR

QID : 3627 - The function of evaluation is to plan appropriate and adequate learning
strategies.

IRIFE @RI @14 6268 QA 9e° AIIg S8l 6R161R 6QIRRI @RQ! |

Options:

1) Instructional
peadlge

2) Administrative
gelafe

3) Placement
Salalseh|

4) Guidance
cIReIQ

Correct Answer: 1) Instructional
Reaelge

Candidate Answer: 2) Administrative
gelate

QID : 3628 - assessment includes exit tickets.

ARIER 2L 6208 19Rg T6ag |
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Options:

1) Prognostic
6d16919R

2) Diagnostic
QIREQIFR

3) Summative
a6geRQ

4) Formative
AR

Correct Answer: 4) Formative
AT

Candidate Answer: 3) Summative
a6geR

QID : 3629 - Instructor’s role is to be primary information giver and primary evaluator in
learning.

§iRI6a giaea Qe 62a8 Jiife 4ol dRIRaIal e Jieiie ARISRLIAT |
Options:

1) teacher-centred
Q@ 6010,

2) student-centred
219- 6851,

3) subject-centred
1Q6RqQ-6a4"14,

4) content-centred
JAGr- 60Q10,

Correct Answer: 1) teacher-centred
Q@ 60910,

Candidate Answer: 2) student-centred
219- 6891,

QID : 3630 - The key aspect of is that it is achieved through cognitive processes, rather
than interactions with the outside world.

QRIQ @Rl 426 R2IRIEl AAR6R 6QIICR 2RI, JAI6R PIdM @EQI 6208 YRIQ 6 Q66
|
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Options:

1) classical learning
diesae aal

2) insight learning
28Qq diml

3) observational learning
Q1086 A9, Sl

4) latent learning

2JRe &l

Correct Answer: 2) insight learning
28Qd diml

Candidate Answer: 2) insight learning
28Qq diml

QID : 3631 - U1, elifeasl B AR /I Y@ g2l ANIQ QIdYg 98I ARl BF AITY AR ———aQ §IR
JoIe @2 |

Options:

1) QIR

2) Q4

3) aoR

4) Qe

Correct Answer: 2) QUQQél

Candidate Answer: 1) SQIQ®1

QID : 3632 - AEMEE FRIQ 6000 Y@ 6AIGICAIC @FSIQ B6l R6d F6RER! FQUARARIN ?
Options:

1) QIRQ4I6I6 QG

2) QI6eRR QIG!

3) 6QICRTRYR @AG!I

4) 6QIRIQAIA -G

Correct Answer: 4) 6QRIQRIA QKO

Candidate Answer: 3) 6QIAGRFAYR AVG!
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QID : 3633 - AFMEE FIQ 606IEY Y@ RFRTR A10 QIRER F6QER! AULN?
Options:

1) 2IQA@ 678l

2) Q124 698l

3) REA MR

4) QAeQIQ AAg

Correct Answer: 3) Q4o RIGPIQ

Candidate Answer: 4) QJ6QIQ QFg

QID : 3634 - 6761RGRARG - Q6d AR QIR QRN |
Options:

1) “dQQI A6x &AI"

2) "0gR Ga6eR 6gR”

3) “dOR AYNER A0R"

4) "§ig6 AN6R EE"

Correct Answer: 4) "GQ6 A¢R6Q EI]E"

Candidate Answer: 2) "Gg@ Qa06Q 69a"

QID : 3635 - ——Q QIQRIQ RERFIA QGG JOTHE FALIN B @RT QITIER IR JRIRQ QILIg IR ATIQ
QAPOIQ JOTRE @RRIN|

Options:

1) QIRRG2IR

2) 62136 RN
3) ARECRE2IR
4) A6QIRELIR

Correct Answer: 1) QRGN

Candidate Answer: 3) ARGRGF2IR

QID : 3636 - ———- QIQl QAQ Y@ 6AIGIEAIT gN SRR MALIQ PQUAIRIN?
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Options:

1) §Qe

2) Q]| GFe
3) gr

4) QRg4ae

Correct Answer: 3) 4@

Candidate Answer: 3) qR

QID : 3637 - 6R606Q6R ‘T-66q” 2IRRA FAUAIRIN?
Options:

1) 9@ QIOYRE AMGEQ PEEEeRT IOl J6Q

2) 9@ dI0YRF APIR6R FERERR dele JoQ

3) JOQ Jaall AFAER

4) QW (P JIOYPF AMGEQ PELEIRRT JRIR J6Q) B (A0 AR AFER)
Correct Answer: 3) JO® d@Ql AALER

Candidate Answer: 4) QG (M@ AI0YRF APHER FEREIART AR T6Q) B (AOR IR AAAER)

QID : 3638 - J6cY6R FAILIRLAI 2IRRR CRAR - | 60 aqC A0Q ?
Options:

1) @90 @4

2) Q4ide Qe

3) el

4) 6¢|q Q10

Correct Answer: 2) Q4ige Q1€

Candidate Answer: 4) 6¢)lq Q1Fe

QID : 3639 - H636 AFAEA B ANYIFR 626! ARINER JAIR G ?
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Options:

1) FeFoRQ AR
2) P6AER ARG
3) JGGQ AIPRR
4) 6R606Q 2AeRe

Correct Answer: 4) 6Q66I6Q 2I@RE

Candidate Answer: 1) T6¢(16Q 2P

QID : 3640 - §-65F° 6268 1@ 2IGRR JElIR1, 6066 696l A6R6! (AFR)6a FAUAIRRIN ?

Options:

1) 9@ QA §861 2107 @QQ! dip [IGFINGa REF 086! 088 & AR clelg AFIRs @R

2) 6AIRRINRS PEREIONER RIFAIER 606 ATIQ QYS! AR @ARY CI2Ig PRIRG @4l

3) QIPFINFA QAT AIRRR FAQ!

4) QaW, (9@ QI Eigel 2100 69! dil YIRFIREAR AEY QR0 AER & AIR 0129 ASIag #AEI) 6 (CAIRAIRS

~ <

Rea6IeR16a 2IRAIER 6a6l Adig @F0! QIdR FARY CIlg AFIRG FAA)

Correct Answer: 4) Q@4 (¥e QI8 SR8 20 @QQ! AR 2IRAIPEAR FRY @A0I AE8 & AR eI2Ig Asiqe
2AQl) G (LIRAIgRS FEACIaR1ER RIRAIER 6a6l A QX6 2IdR @R8F CIelg ASIRE @l

Candidate Answer: 4) QQ%, (M@ QI8I §IQ6l 2IQA @AQ! iR RIGFINER FEF 086! 088 & QIR cllg TR
@0Ql) G (LIRAIRR FEREIR1EA RIRAIER 6a6l A QY6 QAR @RAF 0Ielg ASIRE @l

QID : 3641 - QIVIQ QUIRIPER APLY ABG -
Options:

1) 6%

2) QYRR

3) Qlal

4) Qdealg QAAg

Correct Answer: 1) 6@

Candidate Answer: 4) QJ6QIQ QA9

QID : 3642 - 1@ Q@ 28 Q61 'Ag 67l 4R FIR° GaQ GRS AR’ ?
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Options:

1) 5% QG6I FAYER Bl @A AR 988 @QQ!

2) 191 62IQ AIRE ALY TARER QI 6TAUR A6l AR AR FIR G DVYER OPINR AR 98 FRRIR 6nI6d RIS
QIE

3) H1Q 961616Q QIR 6RIRCIER FIQI 2IQ QLR 6LIRARNS AIZ

4) QEYYFR YUY JAER AR AR FIZ

Correct Answer: 1) @8 66l SRR O @8 (18 g86l @R

Candidate Answer: 2) I2l 62IR JIRE AI2IR AALER @l 6FAIR 26l AR AR AE 6l FAAER QPR AR
Q861 @RAIA 671613 RIRE RIF

QID : 3643 - ‘R661 UFIJRERT Gl 626160 @F] AFIR RN’ 62QR @ -
Options:

1) QAIQIR

2) g

3) Q¢

4) QLG9 (ACIQIR) G ()

Correct Answer: 2) Q@

Candidate Answer: 1) QJIQIQ

QID : 3644 - QIR 60 AR 6AMEPEE'Q 2R 26 FIPLIAT | FEMYE AIQ 606 AIRYT A0 266'?
Options:

1) QAGR 60 6208 AQWERY G AR’ 6RAE A4,

2) ‘AR’ 6208 G681aY

3) '26 QIQLIQT 6RQE 2AQHL,

4) 66966’ 6208 AR

Correct Answer: 1) QJ@Q 60 628 AP B ‘AR’ 6RAE ML,

Candidate Answer: 1) QQQQ 60 6208 AQERY G AUR’ 6RAR 2L,

QID : 3645 - ‘AQIRQ (g1 JIPQ 6MEIR &9?
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Options:
1) FR1Q 601IRR 6ARIAG
2) QPR QUL

3) 661A1RIRl Q1Y
4) 960 A7

Correct Answer: 4) 6QQ (1QI1g

Candidate Answer: 1) IR1Q 6¢lI2R 6ARIAG

QID : 3646 - RI2IQ JaIFl 6MEl JRIeR BGR2I Yo G 6AEIRA 2gARE @QEMI G J6Q 2RJAE BF2I YARER
QIQEE cQIRSMI |

Options:

1) QRIIQIEl QUL

2) eqldIQIe FRIF

3) GIGPRIQ 6¢162Q

4) FR1Q 67190 69RIAG

Correct Answer: 4) T@1Q 67190 642146

Candidate Answer: 1) QRIQI2I QUL

QID : 3647 - RCRGe 606l 6REIR 2I6F QEFRI AITIER 6MEZem B J6Q BR2l QITIER 6ERI 21 f6m ?
Options:

1) QRIQIL, QUL

2) 6ligg QAR 2IITY
3) FERIQER Qg

4) 4R SI6EFIAIIL,

Correct Answer: 3) ¢6RIQ&Q Q4

Candidate Answer: 4) g0® Gl6&PIQIIL,

QID : 3648 - QG4 6TQ6R AEREIN1A ARQIR AR FIRYE 626 JAYR 6ASAF JAIR FRIAIREIN |
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Options:

1) AQ41

2) RIPA10 gagIQ

3) 4864 IRI6Rd gagia
4) dQ BQAél

Correct Answer: 1) dQg1

Candidate Answer: 3) Q@64 IRI60H JagIQ

QID : 3649 - RGO 606 6AGIR/ B8 F6E AFIR QYR FIl ?
Options:

1) QRIQIE QUL

2) eqldiQlel FRIF

3) GIRFRIA 67162Q

4) TR1Q 6FIRR 63RITT

Correct Answer: 3) GIaPRIQ 60162Q

Candidate Answer: 4) TQ1Q 679Q 6aRIAE

QID : 3650 - AEMEE 696 QUAYIAE 66IAIRIRl FQIPE QIR 6REIING?
Options:

1) Q2-QRI8Q

2) 6RQIQ66IR

3) Q0Q®

4) Qge°aia

Correct Answer: 4) QgQ°¢€If]

Candidate Answer: 1) QQ-Q2I@Q
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QID : 3651 - Hl6Q G2IKIRYR @E0IE ARy G AFeR FAARR JFR e dag|
¢ \96@ QAg Qe 2 gl A 69¢R

698 R0 gR QU6R 2IF ARG

\Q° 6816 9RIUF! QIgR6R

g @18 Q1@ 60 Q6¢1 g2 @1 a2l

6060 §a | — 6N AgQ Q6w

Y@ 615219 1 9e° GId6a

696! gdQ 26081 QRR, 6J60696R AQR
0 FrI6R KIRE

Q° 2SI gEleeR RIRQIQ 218

1P QF 6201 2R

012l 671IQ QF, 6F1Q A QER1

A0 218 QIRG @A 6269 I G2
NOI6Q IR QDR8N QIQ6R Q@

deIdoa §aolg @9l 986 @RRl @AUAIRE ?
Options:

1) 2QEUQ8H
2)daaqe
3) 62 60IR
4) 2621 IR

Correct Answer: 3) 64d@Q- 6QIQ

Candidate Answer: 3) 6df- 6dIR

QID : 3652 - g6 BRI @IBIQ ARg G AF6a HAIKIRYSI Jga aaa dag |
¢ 96@ gAg Qe 2 gl A 69¢R

698 2RG2 IR AU6Q 27 @RS

\Q° 6816 JRITE! QIge6R

¢ QI8 Q1@ 641 Q661 gal @1 &l |

6260 ga ! - 6116R age Q6L

Y@ 66219 1 9e° QId6Q

606! gdQ 26081 QRE, 6J60696R AQR
0If FAEQ AIRE

\Q° 2IA8Ig gEieen QIRQIq 218

Ao QF 6208 2R

QIQl 671Q @R, 6FIQ FAQ QA1

A0 2@ UKL AR 6046lg QI G2
NOI6R IR ZRDIQEl QIQER Q2@

6R60 QAL A QERIRIN RITDY 69¢e7 ?
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Options:

1) a@ig

2) G0 2@

3) agN AR
4) a8 4R

Correct Answer: 2) 90 dQ

Candidate Answer: 4) 2Riag) dQ

QID : 3653 - A¢6Q TR *F0IE APQ G HF6R FAAIRYS Jga aaQ dag |
¢ \96@ QAIg gal 2 Qg)l A 69¢R

698 2RG2 IR QJI6R 27 @QS!

\Q° 6816 9RITF! QIR

q @18 Q1@ 60 6r1 g2l @1 aliel|

6060 §a ! - 6Nom AgQ gee

P 616219 1 9e° GId6Q

604 AR 2608 QRE, 660696R JOR
018 AR AIRE

Qe 2SI JEleeR QIRQIQ 218

Q1o @F 6268 &I

QI2! 671Q @8, 6¢1IQ TR AERT

A0 2@ ARS8 QAR 6046lq QA G
NOI6Q IR QI8 QIQ6R Q@

606 B2 @F 6RQIQECIRN FA0! 6REj2EM?
Options:

1) QRIRIYI QUL

2) PRGN 6ARIAG

3) FRIGYER QUG

4) A6QQ 71917

Correct Answer: 1) QRIRIS QUL

Candidate Answer: 1) QRIRIE QUL
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QID : 3654 - Hl6R B2IKIRYR! @G0IE ARg G AFeR FAARR JFR AaQ dag
¢ \96@ QAg Qe 2 gl A 69¢R

698 R0 gR QU6R 2IF ARG

\Q° 6816 9RIUF! QIgR6R

g @18 Q1@ 60 Q6¢1 g2 @1 a2l

6060 §a | — 6N AgQ Q6w

Y@ 615219 1 9e° GId6a

696! gdQ 26081 QRR, 6J60696R AQR
0 FrI6R KIRE

Q° 2SI gEleeR RIRQIQ 218

1P QF 6201 2R

012l 671IQ QF, 6F1Q A QER1

A0 218 QIRG @A 6269 I G2
NOI6Q IR QDR8N QIQ6R Q@

R OgRY ___ g @dlieg |
Options:

1) QQTAIRGEQ! AR
2) @f

3) IR

4) 21-AgRR

Correct Answer: 1) QQCURGEQ! AGAGFS

Candidate Answer: 1) QARG ARG

QID : 3655 - RFl6q GAANRYII @IBIQ ARg G AF6a HAIKIRYSI Jga aaa dag |
¢ 96@ gAg Qe 2 gl A 69¢R

698 2RG2 IR AU6Q 27 @RS

\Q° 6816 JRITE! QIge6R

¢ QI8 Q1@ 641 Q661 gal @1 &l |

6260 ga ! - 6116R age Q6L

Y@ 66219 1 9e° QId6Q

606! gdQ 26081 QRE, 6J60696R AQR
0If FAEQ AIRE

\Q° 2IA8Ig gEieen QIRQIq 218

Ao QF 6208 2R

QIQl 671Q @R, 6FIQ FAQ QA1

A0 2@ UKL AR 6046lg QI G2
NOI6R IR ZRDIQEl QIQER Q2@

661l QRENQA FMR el @'ar?
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Options:

1) @&

2) 2@

3) dagee
4) Im

Correct Answer: 2) 2@Q

Candidate Answer: 3) 6Qgee

QID : 3656 - A¢l6Q TR AP AQY B AR TR IR QAR G2 | AAGER RV A ERIRFIRT
dIR GI6Fl QT Y@ AQOIQ JRQ AG1 2661 1QIg IS B 6091 Q6d Ul @QIAIRAIN | QI 698 RY RE QIQOIA
diR F1& IR 190 6Q6ll 266 666N 66RRR A1 AR ¥2! QIR PR @R2IP | JRIDE A& 2RIAER GIEF
Q1A J21R 614, AQ0IQ 99 AA11 92! AIRER A90IQ @1UEF A1 Gisfl 1A AIFIR QUELIC FREIER,
JR920 \9e° g MR ARl FQUIRAN | GI6Fl RG1 QIR AFE G QA 91 A90IQ AR QA FUQ 2RY6¢1 | 4@
PIe61Q @Reia giIg, 10% 6MIA°EI OI6Q Qe 1e° @1ea! Adle @R2IF | CleFg QIREER AQVIQ ZYe Ja
QAUAN &g FRFRI Y21 6Q AQ0IQ AR IR AIRYRI A1 62IRLIRI A6Q IR AQOIQ 2AAAFYIQ 266'| 126 Y
A2aQ Q66 4Q° ARA1 ZIRERI QIR AQIRE G1I6RR 12 Fkie AYITE 6RIREIN| YRAQ RIREIQ GEF Bga Age
aQ0IQ 2@ 4986 Q1! CIEf RA1 JQUEl 6201 2IR 9@ I8 RIRS 620& 1A @R6R el RIRMI Kae AIGIQ
qigl Q1@ 96 @d 6 61 cRlnMIg 6aIFRIR G AIKs 4] @RRIP | 12l @R AIfisa A8 RQ1Q AIRSIN | AR siaid
06 99u6lq @¢ @1 9e° Giefl Q19 JASARIA @RQIA QAg 2IREIRc! Q@] | Y@ Q6R461g a8l @AQl IR,
QIR AARIQ “PAIF GI6eP" 6dIGIF RIFER Y& @I 210 @RRR | I8 AIJIRAR o 8 6208 J63R
JARRIRAI, RA1Q EQICIR AAYIQ REQL, ARTRAE, AAATER FRIE Ie° @RI |

QEQ GIEPl Q1 QY AQ1 66! AQIER?
Options:

1) diEiQ A8l 2galeq

2) JRQEI 29I

3) YPIQ 9RIRQ 6361 2Qal6a

4) QAR AAg

Correct Answer: 3) \2IQ JQI2Q 6514 2Qal6q

Candidate Answer: 1) JI&iQ Q16 2QAI6R
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QID : 3657 - Hl6Q G2CIRgRl AIQIg 9Qg B AF6a F2ARSFI JEa Qaa G2Q | AIRFER AV MY ERINAINE
diR GI6F R Y@ AQOIQ JAE RA1 266 | IRIg FIGI G 601 Q6d g PAUAIRRIN | QI 698 AN AY QIR
dIR F1& 99 D19R 606l 266 6d6FI6R 66RRR Y AR ¥2! AU6R PR @R2IP | JRIDE A& 2RIAER GIEF
RA1Q PJA1R O14 AQOIQ 99 AA11 Y@l QIRER AQ0IQ @16 Q@11 Gl FR1Q AIFIQ QA6 FREISR,
ARQ \9e° g URQ! din @QIIIRAN| GIeFl fG1 QIR RFS GI6k QF JIR1Q IQOIQ QR QF FRIQ ARYEF | 98
PIe81Q @Rea giIK, 10% 6MIL°E JOIER Qe 1e° @1ea! Adle @R2IF | Cleflg QIREER AQVIQ Ze Ja
QAUAN| &g FQFRI 9l 6 ag01Q 2RJ@ GRI AIREIR AA1 6RIRAI J6Q 121 Ag0IQ 2GR 266 | 92J6R FQY
AeaQ Q6Q4I6l 9e° A2 26! QIR AQIFE GHI6RR 12 Fug AYITEe 62IRCIN| YEAQ QIQEIQ GIsFl @gQ Age
aQOIQ 2@ 986 P11 Gl R1 QU6 62R1Q IR IR J7d @I 6208 I2IQ 9R6R 29l 6RInMl Bae dIZIQ
Qe Q1@ 96 @d 6 67 cRlnMIg 6aIFRIR G AIKE 9§ @RRIF | 1@ 964 AIfieq 8l RQ1g AIREIN | AR siaid
Jo6a 9ouelq @¢ @Rel 9e° Gefl Q1g JASARIA @RI @AY AIREIAC! QB8 | I8 Q6REg Jad @Rl dIa,
QG AARIR “RAIF 6" 6QIgIF AIFER Y@ QIIgS 2I0a fAeF | 18 AIdiera Y 9T 6208 J6uq
JARIRR, AQ1Q JYRICR AAYQ FEQI, A1RAS, AAATER FRIE YQ° RRACEER! |

6Rlam QAQ AIGIQ Q15 @AQ SFIg 9986 @Qeg?
Options:

1) QA IGE AYAR @

2) QN Qleisl 9F @8

3) @940 9

4) 2QU0IR0 @RQ AY AR @R

Correct Answer: 1) QIR Qg AYIAR @1

Candidate Answer: 4) 2QU0IA0 AR AY AR @Q

QID : 3658 - H¢16Q PR ARG Jeg G Qg6 faINIRgRl JEa @@ 63@ | AR R RA ARG
diR GI6F R 9@ AQOIQ JAE RA1 266 | IRIg FIGI G 60@1 Q6 g PAUAIRAIN | QI 698 AY AY QIR
IRl F1I @ R190 6Q6l 266 6AEAIER 63rRA 1Y dIel Y9I AJ6Q PEQ @RI | JRIFE AIE 2RI GI6F!
RY1Q 1A 610, AQ0IQ @Q AX1I ILI QAIAEA AQOIQ 1L P@11 Gl PR1Q AIEIR AUEAIT FREIER,
ARReR \9e° g URQ! din @QIIIRAN | GIEF fG1 QIR RFS Gtk QF JIO1Q IQOIQ QR QF FRIQ ARYEF | 98
R1Q861Q 9R2IR I 10% 6RIRL°G YOI6Q Q2P Ie° @1aa T2 @R2IP | feflg QIR AQOIQ 2)e I
QAN &g FQFRI 9l 6 Q@OQ 2P g0l AIRGRl A9 6QIR2J! A6 LI AQOIQ AJAYIR 266 | 2R RY
AeaQ Q6Q4I6 9Q° A2 2IRER! QIR AYIFE GHI6RR 12 Fug AYITE 62IRRIN| YEAQ QIQEIQ skl @gQ A
aQOIQ 2@ 986 P11 Gl R1 QU6 62RIQ 2IQ IR 7 @I 6268 I2IQ 9R6R QI 6RInMl Bae IZIQ
Qe Q1@ 96 @d 6 6 cRlnMIg 6AIFRIG G AIKs 9§ @RRIP | 1@l @@ AIfieq Fdl RQ1g AIRSIN | AR saId
Jo6a gQasg @¢ @RQI Ye° et 1 JAARIA RRIR ag AIREINEI QRR | I8 Qg Ja8 @Rl A,
QR AARIQ “RAIF Gl6ar” 6dIGIF RIFER Y@ A1 e @RRF | I8 RIJISFR o4 Fad 6208 J6eq
AERIRAI, RA1Q EAICIR AAYIQ REQL, @RS, ARAATER FRIE YQ° RAAEEERT! |

QAT GI66P'Q QEREY @E1?
Options:

1) @9 46000

2) J6eQ AQQIRAI

3) QR1RQE!

4) QAeQIg QA
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Correct Answer: 1) @2 J600Q0!

Candidate Answer: 4) QJ6QIQ QFg

QID : 3659 - A¢6q GRS AP AQY B AFER GRS R QAR G2 | AUAGER RV A ERIRFIRT
dIR! 6I6Fl QT Y@ AQOIQ JRQ AG1 2661 IQIg IS B 6991 Q6d Il @QIIIRSIN | QI 698 RY RY QIQCTA
diR 718 IR 199 6Q6ll 266 6ALFIER 66RRR AITY IR I2! QIR PR fR2IP | JRIRE A& 2RIAER GG
QA J1R O14, AQ0IQ 99 AA11 Y2l AIRER A90IQ Q1R R@11 Glsfl 1A AIFIR QUELIC KREIER,
JAQ2R e° ¢lig ¥AA! AR *AUAIRNAN | GI6Fl 9Q1 QI BTG Gkl QF J91R IQOIQ AER QF FRIQ 2RI | 98
PI061Q @Relia gig, 10% 6MIA°EI 0I6Q Qag 1e° @1ea! Adle @QRIF | CIeFg QIREER AQVIQ ZYe Ja
QAUAN| &g FRFRI Y21 6a A0IQ AR IR AIRYRI A1 62IRLRI A6Q IR AQOIQ AR 266'| 160 Y
A2QQ AEQYIG 9e° AT 219! QIR QUIGE GHIERA 18 g AYITE 6RIR2IN| @A RIQEIQ GIkfl S8 A8
aQoIQ 2@ J986 Q11 GIefl R4 JQREl 6201 2IR 9@ I KIRE 6208 ILIR @R6R el 6RIRMI Kae AIGIQ
Qe Q191@ 96 @d 6] 61 6RlnAIg 6aIFRIR G AIds 4§ @RRIF | 1@l @64 AIfisa FiEl 9919 AIRAIN | AR saId
Jo6a gQasg @¢ @RI 9e° flefl 91 JASARIA @RRIR @ag RGN0 QRS | I8 Qg g8 @0l A,
QIR AARIQ “PAIF cI6eP" 6dIgIF RIFER \Ya @I 210 @RRR | Y@ AIJIgAa 6 7K 6208 J68R
JARRIRAI, RA18 ERICIR AAYIQ REQL, ARTRAE, QTR FRIE Ye° RAAEERT! |

FIEFIRG1 QIR 6100 GlI6EFd, AFAER JY1R AQOIQ _ QF ARIQ 661IGN |
Options:

1) QOQ
2) *YeQ
3) Q19Q
4) ArgPe

Correct Answer: 3) Q@19g

Candidate Answer: 1) QQQ

QID : 3660 - A¢l6Q G2ARLQ AP AQY B AR GRS JFR QAR GAY | AAGER RV A IR
dIR GI6Fl QT Y@ AQOIQ IRQ AG1 2661 IRIg IS B 6991 Q6d Ul @QIAIRAIN | QI 698 RY RE QIQOTA
diR F1& IR 190 6Q6ll 266 6ALFIER 66RRR Y AR I2! QIR PR KR2IP | JRIDE A& 2RIAER GIER
Q1A J21R 614, AQ0IQ 99 AA11 Y2l AIRER A90IQ @1UEF A1 Giefl 1A AIFIR QUELIC FREIER,
JRQ20 \9e° g MR ARl PQUIRAN | GI6Fl RG1 QIR AFe G QA 91 A90IQ AR QA FUQ 2RY641 | 1@
PIe61Q @Reia 9K, 10% 6MISA°EI OI6Q Qe 1e° @1ea! Adle @R2IF | ClsFg QIREER AQVIQ ZYe Ja
QAUAN| &g FRFRI Y21 60 AQOIQ YR IR AIRYAI A1 62IRAI A6Q 21 AQOIQ AARFQ 266'1 2J6R FaY
d2aQ Q66 4Q° LA ZIRERI QIR AIRE G1I6RR 92 Fle AYITE 6RIREIN| YRAQ RIREIQ GEF Bga Age
ag0IQ 2@ 9986 Q1! CIEl RA1 JQUEl 6291 2IR 9@ I8 RIRS 620& 1A @R6R el RIRMI Kae AIGIQ
Q6 QI9IE g6 @d 67 6] 6RIRMIG 612N G Al 9§ @RI | el @ AIFiea A6 ARl AIRAIN | TR siaId
Jo6a gQasg @¢ @RQl 1e° lefl A1 JAARIA @RRIR @ag RGN0 QRS | I8 Qg Ja8 @Rl A,
QIR AARIQ “PAIF GI6eP" 6dIGIF RIFER Y& @ITIA 210 @RRR | Y@ AIJIRAQ o 8 6208 d68R
JAReIRAI, RA1Q EAICIR AAYIQ FEQL, @RS, AAATER FRIE Ye° RAIEERT! |

SIeFl @1 9980, e QaId @ el )
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Options:

1) g

2) Q@80

3) 630 2IQ8IRSI IRl F6Q
4) 01Ql 6elkI@

Correct Answer: 1) J&o

Candidate Answer: 3) 630 2IQ6NA0I IR @6Q

QID : 3661 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

Diksha had been/ in a grumpy mood/ from she woke up.
Options:

1) Diksha had been

2) in a grumpy mood

3) from she woke up
4) No Error

Correct Answer: 3) from she woke up

Candidate Answer: 3) from she woke up

QID : 3662 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Manish was (very excite) about the trip.

Options:

1) very excited

2) very exciting

3) excite
4) No correction required

Correct Answer: 1) very excited

Candidate Answer: 2) very exciting
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QID : 3663 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

His story will change your perspective.

Options:

1) Your perspective will be changed by his story.
2) Your perspective would change his story.

3) Your perspective had been changed by his story.
4) Your perspective has been changed by his story.

Correct Answer: 1) Your perspective will be changed by his story.

Candidate Answer: 1) Your perspective will be changed by his story.

QID : 3664 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Are you to quit the college or not?
Options:

1) planned

2) plan

3) plans

4) planning

Correct Answer: 4) planning

Candidate Answer: 4) planning

QID : 3665 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

the excellent reviews, the place was disappointing.
Options:
1) Also
2) Through
3) Despite
4) Still

Correct Answer: 3) Despite

Candidate Answer:
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QID : 3666 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Liberal

Options:

1) Progressive

2) Careless

3) Reliable
4) Unaccountable

Correct Answer: 1) Progressive

Candidate Answer: 4) Unaccountable

QID : 3667 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
Abolish

Options:

1) Abrogate

2) Annual

3) Condemn
4) Establish

Correct Answer: 4) Establish

Candidate Answer: 4) Establish

QID : 3668 - Select the word that is spelled correctly.
Options:

1) Circimspet

2) Circumspet

3) Circumspect
4) Cicumspet

Correct Answer: 3) Circumspect

Candidate Answer: 3) Circumspect
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QID : 3669 - Select the most appropriate ‘'one word ' for the expressions given below.
A person displaying aggressive or exaggerated patriotism

Options:

1) Chauvinist

2) Cannibal

3) Connoisseur
4) Convalescent

Correct Answer: 1) Chauvinist

Candidate Answer: 3) Connoisseur

QID : 3670 - Select the option that best expresses the meaning of the idiom or phrase given below.
Bite off more than one can chew

Options:

1) To do something that helps you get rid of stress, energy or anger

2) To say that a set of instructions or task is simple or easy

3) To do too much or take something on that is too difficult
4) To fight with someone for no reason

Correct Answer: 3) To do too much or take something on that is too difficult

Candidate Answer: 3) To do too much or take something on that is too difficult

QID : 3671 - SSA stands for
Options:

1) Sarva Shiksha Abhiyan
2) Shiksha Sampan Abhiyan

3) Sarva Sampan Abhiyan
4) Shiksha Sarva Abhiyan

Correct Answer: 1) Sarva Shiksha Abhiyan

Candidate Answer: 1) Sarva Shiksha Abhiyan
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QID : 3672 - Attribution theory became the dominant model in research regarding student motivation
in the

Options:
1) 1940s
2) 1970s

3) 1980s
4) 1950s

Correct Answer: 3) 1980s

Candidate Answer: 3) 1980s

QID : 3673 - is a linguistic activity in which one recognises the text and comprehend the
intended meaning.

Options:

1) Reading
2) Listening
3) Speaking
4) Writing

Correct Answer: 1) Reading

Candidate Answer: 1) Reading

QID:3674-___isthe sequence of incidents or events through which an author constructs a
story.

Options:

1) Plot

2) Theme
3) Setting
4) Style

Correct Answer: 1) Plot

Candidate Answer: 2) Theme

QID:3675-A___ provides exposure to the lives of great men.
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Options:

1) essay

2) biography

3) play

4) story

Correct Answer: 2) biography

Candidate Answer: 2) biography

QID:3676-___ s usually a lyric poem of moderate length, with a serious subject, an
elevated style, and an elaborate stanza pattern.

Options:

1) Elegy
2) Ballad
3) Ode

4) Sonnet

Correct Answer: 3) Ode

Candidate Answer: 1) Elegy

QID : 3677 - is a figure of speech in which a word or phrase is applied to an object or
action to which it is not literally applicable.

Options:

1) Irony

2) Symbol
3) Simile

4) Metaphor

Correct Answer: 4) Metaphor

Candidate Answer: 2) Symbol

QID : 3678 - Learners talk to each other and share their experiences and ideas related to the content
read. They share the meaning of the vocabulary with their peer group. Thisis_____ reading.
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Options:
1) While
2) Post

3) Collaborative
4) Individual

Correct Answer: 3) Collaborative

Candidate Answer: 3) Collaborative

QID:3679-___ s the practice of collecting evidence of student learning in terms of
knowledge, skills, values and attitudes through various means.

Options:

1) Information
2) Assessment
3) Tests

4) Assignments

Correct Answer: 2) Assessment

Candidate Answer: 2) Assessment

QID : 3680 - M. A. K. Halliday (1975) explained
‘Exploration in the functions of language’.

basic functions of language in his book,

Options:
1) seven
2) five
3) three
4) ten

Correct Answer: 1) seven

Candidate Answer: 2) five
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QID : 3681 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn't
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Give the meaning of the word, 'illustrious' in the context in which it is used in the passage.
Options:

1) giving light

2) a visual

3) a sample

4) glorious

Correct Answer: 4) glorious

Candidate Answer: 4) glorious
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QID : 3682 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn't
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Which of the following is the most suitable title for this passage.
Options:

1) The history of Indian para military forces

2) How Indian soldiers supported the British

3) The origin of India's Parachute Brigade

4) The heroics of A.G. Rangaraj

Correct Answer: 4) The heroics of A.G. Rangaraj

Candidate Answer: 1) The history of Indian para military forces
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QID : 3683 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn't
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Which of the following battalions was not a part of the 50 Indian Parachute Brigade?
Options:

1) 152 Indian Para

2) 150 Madras

3) 151 British

4) 153 Gurkha Para

Correct Answer: 2) 150 Madras

Candidate Answer: 2) 150 Madras
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QID : 3684 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn't
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Who doesn't exactly fit in as a war hero in the general perception?
Options:

1) An engineer

2) A mechanic

3) A doctor
4) A soldier

Correct Answer: 3) A doctor

Candidate Answer: 3) A doctor
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QID : 3685 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn't
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Which of the following expressions used in the passage is an idiom?
Options:

1) machinegun wielding infantry soldie

2) awe-inspiring feats of courage

3) baptism of fire

4) distinction of being the first

Correct Answer: 3) baptism of fire

Candidate Answer: 1) machinegun wielding infantry soldie
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QID : 3686 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

What does the poet asks its readers to do when everybody around you are blaming you for everything
that goes wrong?

Options:

1) To be unperturbed and keep your calm
2) To get affected

3) Do something to change their opinion
4) To sit and cry

Correct Answer: 1) To be unperturbed and keep your calm

Candidate Answer: 1) To be unperturbed and keep your calm
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QID : 3687 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

What should one do when people doubt their abilities?
Options:

1) Prove them your abilities

2) Trust yourself and also consider that why are people doubt on your abilities
3) One should remain unaffected and do nothing

4) One should sit and cry

Correct Answer: 2) Trust yourself and also consider that why are people doubt on your abilities

Candidate Answer: 2) Trust yourself and also consider that why are people doubt on your abilities

QID : 3688 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

Identify the figure of speech in the lines - "If vou can dream — and not make dreams vour master"?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:

1) Metaphor

2) Irony

3) Personification
4) Simile

Correct Answer: 3) Personification

Candidate Answer: 2) Irony

QID : 3689 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don’t give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

What is the exact meaning of the word "imposters" in the context of the poem?
Options:

1) Deceivers

2) Helpers

3) Motivators

4) Teachers

Correct Answer: 1) Deceivers

Candidate Answer: 1) Deceivers
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QID : 3690 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

What does the poet asks its readers to do when they "watch the things you gave your life to, broken"?
Options:

1) To stand up and try again
2) To accept failure

3) To sleep

4) To do nothing

Correct Answer: 1) To stand up and try again

Candidate Answer: 1) To stand up and try again

QID : 3691 - Which of the following statements is NOT correct about the nature of Mathematics?
086 Q gt AR PEmee FuQ 606 A A0 Q6w?
Options:

1) Mathematics develops the ability of induction
CIEIO 6008 VIR FREIE @6Q

2) Mathematics develops the ability of deduction
G180 FEIFIR VFIGI FREE @6Q

3) Mathematics develops the ability of generalization
CI6ie AIFIFRRs FFG! FREe @6Q

4) Mathematics develops the ability of reduction
CIEie QIARQE AFGI IR0 @6a

Correct Answer: 4) Mathematics develops the ability of reduction
Q80 PIARQE FFIGI FREE P6Q
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Candidate Answer: 4) Mathematics develops the ability of reduction
CEie QIARas AFG! AREe @6

QID : 3692 - Which of the following is/are the advantage(s) of Drill work in Mathematics?

086 60 B RIFER AREE FUQ 6RLE ARG 21667
Options:

1) Learnt material can be retained for a longer time
2RIAR AIFgNg @14 AAg, Ad4g Q6 AIRAIRS

2) Drill work can be used to check memory of a child

ER QIF Q Ad6disl IRIQ goa7 IRl *RQI AT *AUARARS
3) Drill work is a good technique for beginners

R P AREAR AN FINE IR IS QAF 6216IR 26e

4) All options are correct

ag Geq O«

Correct Answer: 4) All options are correct
ag 9aq O«

Candidate Answer: 4) All options are correct
ag deq O

QID : 3693 - Which of the following is NOT a technique of teaching Mathematics?
QNGO AIQ 6865 61816 JRIRRIA 6RlcIR Q6E?
Options:

1) Self study

g erIae

2) Assignment
AENY

3) Rote learning
6QIRI @I

4) Supervised study
PQIQE dUgn

Correct Answer: 3) Rote learning
6QIRI @I

Candidate Answer: 3) Rote learning
6Q1RI @l
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QID : 3694 - Making simple comparisons and classifications along one dimension at a time, and
identifying shapes and symmetries, are appropriate skills to acquire at this stage. According to
National Curriculum Framework (NCF) 2005, which stage is being in the above statement?

661N AFINER IR 2INER IR AR YRR B QEIRAE ARRI Ye° 2IRIQ G AFQUE! 26 @QQI, I8 gasa
IR FAR! MIE QAYY 6216R 266" | RIS, AI0YPF QUEAE (YRET) 2005 2QAIN QUG @F 696 OREIER
287

Options:

1) Pre-primary stage
Jd@-gedie oas

2) Primary stage
Jiefie 04

3) Secondary stage
Alifi@ 08l

4) Higher secondary
Qe AT 04

Correct Answer: 1) Pre-primary stage
JIR-glafie o8l

Candidate Answer: 2) Primary stage
glefie 04

QID : 3695 - Which of the following is a characteristic of group work in Mathematics?
gEioea afe QITY Q REMYe FRIQ 686 Y@ 661861 287
Options:

1) Group should be homogenous in matter of intelligence

98 61§ FEL6R Q7R ANQA 6201 QG

2) The purpose of group work must be adequately clear

ade @I @ e adig QI6e 4g 6261 @96

3) Exchange of ideas and opinions should take place efficiently
Q9IQ G FIRIFE FEaa 2IRIR eI QIRGIQ AR 6291 QFE

4) All options are correct

ag 9aq 0@

Correct Answer: 4) All options are correct
ag Geg O«

Candidate Answer: 4) All options are correct
ag Geg O«
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QID : 3696 - Which of the following is a democratic and problem-centred technique in Mathematics?

GEI06a DEREe FRIQ 6RE 1@ CIEIRIFR G AAQY-ERLE 6Rl6IR 216677
Options:

1) Rationalisation
Ja[alatS

2) Brainstorming
WeRIQ 47)Q QLR

3) Inductive reasoning
QAR IRe 06

4) lllustration

208 58l

Correct Answer: 2) Brainstorming
QRRIQ AF)@ 2IQLIQ

Candidate Answer: 2) Brainstorming
WRIQ A7)L QLR

QID : 3697 - Which of the following skills is required to be good at Mathematics?

0Ei06a RMEE FUQ 6a6! 6RlEIR Qm 621 2IQER?
Options:

1) To have learnt all the facts and formulae in Mathematics

cl8io6a A9 e B 9o goq el

2) To be able to do complex Maths problems

ROR céie anal gog @ael MIG a8 6eal

3) To be able to create and formulate problems though abstract thinking and logical reasoning
66l@e ORI B 4R 0F 42 Al gog 9§ @09l G @1ege @Al MIG A8r 624!

4) No option is correct

6al6ld e O 6w

Correct Answer: 3) To be able to create and formulate problems though abstract thinking and

logical reasoning
6@ SQRIRI B 4R 06 92 Ay gog 9§ @09l G @19ge @aeI MIG A8 624!

Candidate Answer: 3) To be able to create and formulate problems though abstract thinking and

logical reasoning
6lae ORIl G QY 0F 92 Ay o9 Y @99l B @19g6 AR MIG ABF 624!

QID : 3698 - Drill work in Mathematics can be done in which of the following manners?

C5i06R @M A @IF AFRYO ARIQ 696 J8IR16R FQUAIRARR?
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Options:

1) As an oral work

IR 661gR QI QU6

2) As a home work

@ dQ @I¢] QUEQ

3) As a written work

U6 RO @I Qe

4) All options are correct
ag 9aq Oe

Correct Answer: 4) All options are correct
ag Geg O«

Candidate Answer: 4) All options are correct
ag Geg O«

QID : 3699 - Mathematics generates which of the following abilities?
6186 DeRee FrIQ 6a6 AFG!I 4F @aURRIN?
Options:

1) Logical

o0& Ao

2) Linguistic
QAR

3) Historical
ROQ AL,
4) Grammatical
AR Q P

Correct Answer: 1) Logical
o) Ao

Candidate Answer: 1) Logical
o0& Ao

QID : 3700 - Which of the following structures in Mathematics includes concepts like limit,
neighbourhood or nearness?

0Ei06a RIMGE FUQ 626! AERIER A7, A6LIEN Al PRCAE AR 2RUREI QL 2a?
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Options:

1) Topological structures
Agoe A°QeR!

2) Order structures
ego QeI

3) Algebraic structures
QIRGIEIG1D, A°QeR

4) No option is correct
6al6ld e O 6w

Correct Answer: 1) Topological structures
Agoe a°Qeq!

Candidate Answer: 3) Algebraic structures
QRGP QORI

QID : 3701 -

343136
3./49

What is the value of

3./3136
3./49

Q I 6REG?

Options:

Correct Answer: 3) 4

Candidate Answer: 2) 3.6

QID : 3702 - If 3472X is divisible by 6, then what can be the value of X?

QG 3472X, 6 QIQ1 FQURY, GI626M X Q (IR 60667
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Options:
15
2)8
3)2
4)2o0r8

Correct Answer: 4) 2or8

Candidate Answer: 4) 2or8

QID : 3703 - Which of the following statement about the given fractions is correct?
I.3/5

11.9/11

. 7/9

IV. 5/7

oS

QOMee AUQ 6REE FRIKIRSQI Qg°6 FATER Oa?
l.3/5

11.9/11

1.7/9

IV. 5/7

Options:

NU>U>1>IV

2) 1>Vl

>>IV>I

HI>IV>Ill>]

Correct Answer: 3) II>1ll>1V>]

Candidate Answer: 2) | >V >l >l

QID : 3704 - If the circumference of a circle is 88 cm, then what is the area (in cm?) of the circle?

Q@ 9@ Q@A Atk 88 cm, QIR 6RYTR (cM? 6)) 69667
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Options:

1) 616

2) 388

3) 154

4) 445

Correct Answer: 1) 616

Candidate Answer: 1) 616

QID : 3705 - The area of a rectangle is 162 cm?. If the length of this rectangle is twice its breadth,
then what is the perimeter (in cm) of this rectangle?

66IIGN 2IQIP68Q Q 6AQTPR 162 cm?. Q6 dILIP6RAQ Q 6GdY 9RIQ d4q Q QWg6l, 91626Mm 2ILIP6[Q A 0@&1
(in cm) 60667

Options:

4) 56
Correct Answer: 1) 54

Candidate Answer: 1) 54

QID : 3706 - The height of a cuboid is one-third of the sum of its length and breadth. If its height is 6
cm, then what is the lateral surface area (in cm?) of the cuboid?

665N ARIQE Q ARSI ILIA 6541 B dg @ A 9@ @E1LI°6. 18 N2IQ @RI 6 cm 9, Gl6R6m ¥RIa AIFR
690CR(cm? 6Q ) 6@60?
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Options:

1) 432

2) 144

3) 216

4) 256

Correct Answer: 3) 216

Candidate Answer: 2) 144

QID : 3707 -

If 2’(—_3" = 1, then what is the value of M?
X+2y 2 BX +Y

& 22X 1 sace Y g oa sase?

d =—,
X+2y 2 BX +Y

Options:

1)3/5

2) 4/3

3) 7/9

4)6/7

Correct Answer: 3) 7/9

Candidate Answer: 3) 7/9

QID : 3708 - If the polynomial ax® + 6x? + 4x — 8 and x® — 7x + 2a leaves the same remainder when
divided by (x - 2), then what is the value of a?

Q8 ax® + 6x% + 4x — 8 98°x3 - 7x + 2a 6ARMATRIR @ (X — 2) QI FAURS F6M AFIR 2AR6EW Fi6R , PI626M a
Q FRY 69607
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Options:

1) -4

2)4

3) -5

4)5

Correct Answer: 3) -5

Candidate Answer: 3) -5

QID : 3709 -

If L + " = i’ , then what is the value of p* — q®?

p: o Py

&
)
|
+
|
I
X
&
o
)
e
a2
|
Nol
(%]
D
3
=
a
D
Fix)
@
=J

Options:

Np-q

2)0

3)Pq

4)1

Correct Answer: 2) 0

Candidate Answer: 4) 1

QID:3710-If x =4,y = 2 and z = —6, then what is the value of x3 + y3 + z3 — 3xyz?

QARx =4,y =29°z = -6,606@ x° + y3 + 2% - 3xyz Q IR 6@66?
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Options:

Correct Answer: 3) 0

Candidate Answer: 3) 0

QD : 3711 -
a
2

a+b+c

If , then what is the value of T 7

h_&
3 4

a c a+b+c
7 5969 % Q RN 69657

Ao —
2

b —
3 =
Options:

1)2

2)0

3)3

4)1

Correct Answer: 3) 3

Candidate Answer: 4) 1

QID : 3712 - A and B together can complete a work in 10 days. If A alone can do the work in 15 days,
then in how many days B alone can complete the work?

A BB Q62 6615 QIFlg 10 BR6Q66IE @R AIRER. I6 A IgG2l 15 806Q @IFITY @QIER, 606@ B IQIR1 6060
Q06 QIFl 661Q @Q AIRR?
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Options:

1) 15

Correct Answer: 3) 30

Candidate Answer: 2) 20

QID : 3713 - The price of an article is increased by 25%. If the new price of the article is Rs 12 more
than the old price, then what is the new price (in Rs) of the article?

6615\ BRA Q QIFl 25% QRMI. I8 AT Q Q2 QIF IRIA J9 QIF OIQ Rs 12 2@ 9, 6669 2l QIF1 G (Rs 6Q)
60607

Options:

4) 36
Correct Answer: 2) 60

Candidate Answer: 2) 60

QID : 3714 - Rs 1000 is kept at simple interest at the rate of 10% per annum. How much amount will
be received at the end of four years?

QTR 10% QaR Gl 62 Rs 1000 Q6ll GIRl. 1R 9F 66186Q ARl ARCIE 6060 6207
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Options:

1) Rs 1800
2) Rs 1600
3) Rs 1500

4) Rs 1400
Correct Answer: 4) Rs 1400

Candidate Answer: 4) Rs 1400

QID : 3715 - A man brought 5 shirts of type A for Rs 600 each and 3 shirts of type B for Rs 1000 each.
What is the average value (in Rs) of each shirt?

@66 @45 A gRIQ 5 G QI g664@ Rs 600 601 4e° B gRIQ 3 § A6 g664@ Rs 1000 6Q @éi6m. 46646 A6 Q
QQULIR gAY (Rs 6Q) 6R667?

Options:

1) 700

2) 750

3) 800

4) 850

Correct Answer: 2) 750

Candidate Answer: 2) 750

QID : 3716 - The three angles of a triangle are in the ratio of 1: 2 : 3. What is the value of the smallest
angle (in degrees)?

Qe Q 56RIC 6RIE Q AQAIR 1: 2 : 3. YOI 6RI6 & 68667
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Options:

1) 20

Correct Answer: 4) 30

Candidate Answer: 4) 30

QID : 3717 - O is the center of the circle and two tangents are drawn from a point X to this circle at
points M and N. If zMOX = 60°, then what is the value (in degrees) of ZMNX?

0 6268 QA & 604 1e° Y@ B9 X @ Q& @ M B N @9 g0 9aF gée o6l AIRG. A8 ~MOX = 60°, 6969 LMNX
6060 6297

Options:

1) 120

2) 90

3) 60

4) 50

Correct Answer: 3) 60

Candidate Answer: 1) 120

QID : 3718 - In DXYZ, X0 is the median and XO = (1/2)YZ. If £XZO0 = 35°, then what is the value (in
degrees) of 2OXY?

DXYZ 62 X0 62Q@ A1 \9Q° X0 = (1/2)YZ. 9@ £XZ0 = 35°, 0l6@6m 20XY (@41 6Q) 6260 62Q?
Options:

1) 45

2) 55

3) 50

4) 60

Correct Answer: 2) _5F

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click




Candidate Answer: 4) 60

QID : 3719 - The length of the three sides of a triangle are 25 cm, 29 cm and 36 cm. What is the
length (in cm) of the altitude to the largest side of the triangle?

661G\ BQe Q B6RIT @19 Q E] 6aMI 25 cm, 29 cm \9e° 36 cm. BRR Q QR QI 46 AEG! (cm 6Q) 6866 ?

Options:

4) 25
Correct Answer: 1) 20

Candidate Answer: 2) 22

QID : 3720 - In APQR, QPR = 2,PQR and «PRQ = 32QPR. What is the sum (in degrees) of the
smallest and the largest angle of the triangle?

APQR 68 £QPR = 2.PQR \@° £PRQ = 32QPR. 3@  Q2@¢! 9Q° FQorl 6716l Q AAF (P61 61) 6066 ?
Options:

1) 130

2) 140

3) 160

4) 100

Correct Answer: 2) 140

Candidate Answer: 2) 140

QID : 3721 - The science that is related to social activities is called as

64 AIFIRe BRIRQ AIEPeR AMRE MR 9@l 99|
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Options:

1) Natural science
1906 SRIe

2) Social science
aclie arie

3) Physical science
6QIoR ARIe

4) No option is correct
6al6ld e A0 Q6w

Correct Answer: 2) Social science
e RIQ

Candidate Answer: 2) Social science
e RIQ

QID : 3722 - Which of the following are aims for teaching science in school?

R GRIER AI0RIRA AAY HYR FEG?
Options:

1) Aesthetic aim

QRGeS RAY

2) Intellectual aim

69166 A

3) Cultural aim

ArgoR Aa

4) All options are correct
aeg daq a0

Correct Answer: 4) All options are correct
aqg deg abe

Candidate Answer: 4) All options are correct
aqg deg abe

QID : 3723 - Which of the following is an objective of teaching science at senior secondary stage of
schooling?

RORGOYRRR IR 6RLE ARYIRAR AR Alfie AR RN A0 QERE! ?
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Options:

1) To attain desirable proficiency in the specialised areas of science

FRINQ F66ITINE 6896Q FIFE AVG! UGR ARG

2) To get students ready for the work related to specialized vocational courses like medicine,
engineering etc.

661030, QBRAIR AGYIA F66RINE QAR 61d AMFE @IF e Sl 9go @ael

3) To make students acquainted with latest concepts and advancements in science

ARIEQ AG6EIA Q8N IQ° 2gePa AIPea ST A8 @A

4) All options are correct

aqg Yaq ade

Correct Answer: 4) All options are correct
aqg 9aq ade

Candidate Answer: 4) All options are correct
aqq dep ade

QID : 3724 - Which of the following are the approaches regarding organisations of science
curriculum?

I. Process approach

Il. Constructive approach

Ill. Hand-on approach

ARREQ AI0IPFQ A°YIGee AMRER AIRNGOYPNR FER 64 186 QRR?
l. 9@ ARG

Il. 0RFRe 485

1. @l2I6Q @0QI ARG

Options:

1) Only |
60w |

2) Both Il and IlI
11 9Q° [l e,
3) 1, 1l and Ill

[, 11 9@ 11

4) Only 1l
caem Il

Correct Answer: 3) |, Il and Il
[, 11g@e 11l

Candidate Answer: 3) |, Il andll
[, 11 9@ 11
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QID : 3725 - Which of the following is incorrect regarding teacher centred method of science?
JiRe 6R00 ARIPQ A0 APINER ACQ @6RGGC QM?
Options:

1) This process emphasises more on need, requirement, interest and capability of students
R gRAE SiRITNa g6aleR, JeRnde), 2Ige ¥e° @80IR QUQ ZIgR 6x1Q &9

2) It focus on telling, memorising, recalling information

21 G2l QL) 61g PRI, JRFERERIA AUR 6TIRIA P6Q

3) The students are only passive listeners and receive the knowledge

8912110 62eR QTR 66161 Ie° RIQ 260 @6Q

4) The student participation in the class is very limited

Q196 HRINQ ereigesl ¢e AFe

Correct Answer: 1) This process emphasises more on need, requirement, interest and capability of
students
R gRAT SiRITNa g6aleR, J6Rnge), 2Ige ¥e° @80IR QJQ ZIgR 6x1Q &9

Candidate Answer: 1) This process emphasises more on need, requirement, interest and capability
of students
R gRAIE SiRITNa J6eR, J6Rade), 2Ige N9° @8IR QUA ZIZR 6x1Q @9

QID : 3726 - Which of the following is a principle of Discovery method of teaching science?
RONGOT 6266 AR 2RY AR Ra16?
Options:

1) Principle of Play-way
PRIl 66iRQI-ae)

2) Principle of logical thinking
6@ 8gIQ Ra1E

3) Principle of individual effort
g0g J6eqa Ra1e

4) Principle of utility

~aa

RAGHEA ARATE

Correct Answer: 2) Principle of logical thinking
64Ig@ 9QIQ FRa16

Candidate Answer: 2) Principle of logical thinking
64I9@ 9QIQ FRa16

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




QID : 3727 - In which of the following test, students are asked to demonstrate their learning
performance by engaging themselves in experimental and work activities?

PR @6 AL, SRITIR ANBIFRS 1e° RIFQ FUIL, P6R66 KP6 @6Q FIA FigRIa ARTAANIGE Jasin
QR Qal g\?

Options:

1) Oral test

6cllgi@ aonal

2) Written test

@ge aoual

3) Practical test
QeglRe sl

4) No option is correct
6al6ld e A0 6w

Correct Answer: 3) Practical test
QIealae sl

Candidate Answer: 3) Practical test
QIeeIRe aqisl

QID : 3728 - Which of the following evaluation is carried out at the end of a piece of instruction,
lesson or unit?

RERER IRT 26, A0 @ AARCA 6651F6Q AYREE K FRYINNT ARl §4?
Options:

1) Formative evaluation
FoRFRe gRIIAe

2) Summative evaluation
Q°8g gRuIae

3) Diagnostic evaluation
QISR FRYIAR

4) No option is correct
6al6ld Gaq A0 6w

Correct Answer: 2) Summative evaluation
Q°8g gRuIae

Candidate Answer: 1) Formative evaluation
FORERR RIIAR
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QID : 3729 - Science excursions, science museum and nature study are examples of which teaching
aid in science?

ARIe QA8 ARIE (4R IQ° JQE Cl6aREI FRIRR 6RLE HRININA A1 QRIRQEI?
Options:

1) Audio aid

UGG ARIAG!

2) Visual aid
QiR 9Q

3) Activity aid
RAUNRIA ARG

4) Audio-visual aid
UPB-RQIRIN ARG

Correct Answer: 3) Activity aid
USRI ARG

Candidate Answer: 3) Activity aid
USRI ARG

QID : 3730 - Which of the following are the principles of lecture method?
FQ 66 9gel A80a RA1E?
Options:

1) The teacher should be aware of needs of learners

S90a AR1C1a J6RIRR AMREQ A60R 62Q QPG

2) The teacher must arouse interest in the subject and sustain in the mind of students

SRg a6y IR 9, 2Ige QOINEE 29 9e° ENIZNA F16r TaN Qg6 2@

3) The teacher must take enough time to build mental pictures with new concepts, previous
knowledge, for better conceptual development

QQe AUREIGE ARI8 AR Yag 2AQEIR QI IR, JEee1 fie de FAIRd 50ge F2IR @9l adig A
60060 2Q

4) All options are correct

aqg deg abe

Correct Answer: 4) All options are correct
aqg deg abe

Candidate Answer: 4) All options are correct
aqg deg ade
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QID : 3731 - In the process of Anodisation, which acid is used as an oxidising agent?

AIERIPINEASIY IFAUQ, Q61 2HTET AFOIAG° I6RQ BAIER QIQQE g2
Options:

1) Conc. Nitric acid

fi§e PIRge Yde

2) Dilute Sulphuric acid
60QCARTARR 2Ide

3) Conc. Hydrochloric acid
f8o iReglenlae Yde

4) Carbonic acid

PloRe 9de

Correct Answer: 2) Dilute Sulphuric acid
60QCARTARR 24Ide

Candidate Answer: 1) Conc. Nitric acid
fi§e eIRge Yde

QID : 3732 - With increase in temperature, the kinetic energy of the particle

OIAFIRI QRQ AIEreR @8Rl g (AIFeR )Q 6106]

Options:

1) increases
Q8
2) decrease

QI
3) remains constant
acle Qe

4) No option is correct
6al6ld e A0 6w

Correct Answer: 1) increases

Q8

Candidate Answer: 1) increases

Q8
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QID : 3733 - Which of the following is correct regarding cells in human beings?
I. Muscle cell contract and relax to cause movement

Il. Nerve cells carry messages

ll. Blood flows to transport oxygen, food, hormones and waste material

AEIRQ 6918 AME6R AFQ 6R6E A0?

. 60611 6QIT Q@ F6Q IQ° ORIFERA FIQEIER ZIRAIF G

II. I 6ARGER QP QLR K6Q

Ill. 2Q6aQ, SiIeY, 2Q6AIR IQ° 964 4RI AReeR Qg JRIRe 99

Options:
)L
2) 11,1

3)11l, |
41,11, 11

Correct Answer: 4) |, 1,1l

Candidate Answer: 4) |, 1, 1ll

QID : 3734 - Hydrometers, used for determining density of liquids are based on

IREQIACAGRR, @ Qd6R 6@ #QAQl 0aRgeea Aeg AJIREA il 4e90 9|
Options:

1) Newton’s principle
ARERA 916

2) Bernoulli's principle
69Q61ZRIQ A16

3) Archimede’s principle
2R6A60Q 216

4) No option is correct
6al61d faq A0 ged

Correct Answer: 3) Archimede’s principle
2R6A60a 216

Candidate Answer: 3) Archimede’s principle
2660 216

QID : 3735 - Which of the following may be the reason behind sinking of Iron nail in water?

Q860 Q2 R4l PR ARER AFQ 606 FIREIT 62RdIEa?
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Options:

1) Density of water is equal to density of Iron nail
JEQ ARG P2l KEIR ALY QAR

2) Density of Iron nail is more than density of water
Q2! REIQ AQ AIFQ ARQQ OIQ 6QF

3) Density of Iron nail is less than density of water
P2 QA AR UEQ AR OIQ ¢

4) No option is correct

6al6ld e A0 Q6w

Correct Answer: 2) Density of Iron nail is more than density of water
Q2! REIQ Aeg AIFQ ARQA OIQ 698

Candidate Answer: 2) Density of Iron nail is more than density of water
Q2! REIQ Aeg AIFQ ARQQ OIQ 698

QID : 3736 - Which of the following element symbol pair are correctly matched?
R0 606 QUINEA go1e 6016 A0IEe FRa?
Options:

1) Lithium - Li

meyael - @

2) Magnesium - Mg
M6 - 1S

3) Argon - Ar

2eie - 2

4) All options are correct
aeg daq a0

Correct Answer: 4) All options are correct
aqg deg abe

Candidate Answer: 4) All options are correct
aqg deg abe

QID : 3737 - Which of the following metals are refined electrolytically?

RORYS UEAYPRA FIIER 604 & 63QITRRIER AREEIE?
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Options:

1) Gold

qél

2) Silver

Qal

3) Nickel

Qeam

4) All options are correct
aqg deg ade

Correct Answer: 4) All options are correct
aqg Yaq ade

Candidate Answer: 4) All options are correct
aqg Yaq ade

QID : 3738 - Sperm formation in human beings requires a the normal body temperature.

ABIEA F1:6Q §1g F0RQ dIF Q1aa YIRS SIAFIg! OIQ QEQI 6URA |

Options:

1) higher body temperature than
0IQ 68l 61 FIAFIQI

2) lower body temperature than
0IQ AR LIACNR| @¢l

3) same temperature as

QAR RIAAIQI AR

4) No option is correct

6aleld Faq a0 ged

Correct Answer: 2) lower body temperature than
01Q s RIACIL| @€l

Candidate Answer: 3) same temperature as
aaIR QIAAIQI AR

QID : 3739 - Which plant hormone is responsible for witting of leaves?

66 Q@ 2A6AIR JQ ¢ AIR QI?
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Options:

1) Auxin

Glge

2) Gibberellin
cleR6ame

3) Cytokinins
de@e1g

4) Abscisic acid
2Iedde de

Correct Answer: 4) Abscisic acid
dIedde wde

Candidate Answer: 3) Cytokinins
de@e1g

QID : 3740 - Pons, Medulla and Cerebellum in human beings are part of

AIRRERR6Q ARY, 6FAQRI I° 6AR6eRA _____ Q 2°¢ll
Options:

1) Fore-brain

gy

2) Mid-brain

-y

3) Hind-brain

ae Agg

4) No option is correct
6aleld Faq a0 ged

Correct Answer: 3) Hind-brain
e agq

Candidate Answer: 3) Hind-brain
dae gy

QID : 3741 - Which of the following enzymes in human beings work in acidic medium?

(8RR 60260 PIA 606 IRRIRL ZITER FIIFIER QI K6Q?
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Options:

1) Trypsin

QIRAER

2) Pepsin

6aQe

3) Lipase

Miead

4) No option is correct
6al6ld e A0 Q6w

Correct Answer: 2) Pepsin
6aQe

Candidate Answer: 3) Lipase
miead

QID : 3742 - Which of the following plants have bisexual flowers?
0ga 6Rd Qe QERIFI(AIREAFEIR) IR QL7
Options:

1) Papaya and watermelon
APRE B QR

2) Papaya and Hibiscus
e B 8aqQ

3) Hibiscus and Mustard
Q09 9e° 6210

4) Watermelon and Mustard
00QR Ie° 6210

Correct Answer: 3) Hibiscus and Mustard
Q09d 9e° 6aI0W

Candidate Answer: 1) Papaya and watermelon
APRE B QR

QID : 3743 - Which of the following carbon compounds has a triple covalent bond?

QORGE @I9R Qga Y@ FAm 6RIacRg 9R ARR?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:

1) Propane
691600

2) Propyne
[Salla (==

3) Propene
691600

4) Propanal
6dI6dRNm

Correct Answer: 2) Propyne
edidiae

Candidate Answer: 1) Propane
69160

QID : 3744 - What is the power of convex lens of focal length 2m?

6TIeIm 66411 2 AcIa Q@R 6RQQ 61§ 6966?
Options:

1) +0.5D
2) -0.5D
3) +2D
4)-2D

Correct Answer: 1) +0.5D

Candidate Answer: 3) +2D

QID : 3745 - Which gland in human body is responsible for secretion of growth hormone?

AIRQ 622Q 604 gF 660 REFING AIRLIA AR QIL?
Options:

1) Adrenal gland

PP QY

2) Liver

QQe

3) Pituitary gland
JdgReI 9

4) Thyroid gland

2IRREAEe 9f
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Correct Answer: 3) Pituitary gland
dgReIR 9

Candidate Answer: 3) Pituitary gland
JgReI g

QID : 3746 - Goitre is caused due to deficiency of .

CIREIE (BNEQ) _____ Q @¢ RIQ8IQ 621R2IN |
Options:

1) Calcium
l[[atafa e
2) Sodium
6QIR2ICT

3) Chlorine
6Q109

4) lodine
RGP

Correct Answer: 4) lodine
RGN

Candidate Answer: 4) lodine
2GR

QID : 3747 - Brass and Bronze are alloys of

JdOM 9Q° 691 Q fgéll
Options:

1) Copper
ogl

2) Aluminium
lIntealel

3) Iron

pal

4) Lead
QQI(6me)

Correct Answer: 1) Copper
ol

Candidate Answer: 2) Aluminium
2ipacea
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QID : 3748 - Which of the following enzyme is responsible for digestion of carbohydrates in human
beings?

FIRQERR6Q FIEAIRIRERE 2RI IR FFQ 606 IPRIRA QI?
Options:

1) Trypsin
cleade

2) Pepsin
6aqR

3) Amylase
(e[l

4) Lipase
miaedd

Correct Answer: 3) Amylase
bJaralle

Candidate Answer: 3) Amylase
(e[l

QID : 3749 - Carboxylic acid reacts with carbonates and hydrogen carbonates to give rise to

Q 6991 diel RIEAIZIPNS 2ITe A6 RIAERE IQ° AREPIERR FIFERCYER IO G|
Options:

1) salt

Qe

2) carbon dioxide

QI9R - OIR - AQIRQ

3) water

Qié

4) All options are correct
aqg Yaq ade

Correct Answer: 4) All options are correct
aqg Yaq ade

Candidate Answer: 1) salt

mél
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QID : 3750 - is used for disinfecting drinking water to make it free of germs.

910 g I8 09 92! @191 fQIR AR 4990 g4I
Options:

1) Baking soda

606" 6QIQ|

2) Bleaching powder
Qo° AIReQ

3) Sodium hydroxide
6Q1G2¢1 QRPN

4) Washing soda
RENAT 62!

Correct Answer: 2) Bleaching powder
Qo° dIeeQ

Candidate Answer: 2) Bleaching powder
96° QIeeQ
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